Practice Test Two

PAPER 3 USE OF ENGLISH Time: 2 hours

I.

Fill each of the numbered blanks in the following passage. Use only one word in each space.

Oneofthe (I) ..o, problems with holidays, (2) .............. from the usual travel complications and
accommodation difficulties, (3} ....cconeane. the cxpectations people have of (4) ................. Whenwe go
on holiday we expect toleave all the stresses and strains of our (5) ............. lives behind us. We imagine
we willbe (6} ....oceue.... toescapetosucha(7) ... that we even tend to believe, consciously or not,
that we canleave our (8) ............... personalities behind and become completely different people. The
(D) e business-person, tense, preoccupied, short-tempered, (T0) .oevvveeerrenenene to relax,
envisages herself/himself becoming, from the moment of tocking the office door, a radically different
(T1) v, of person: carefree, good-humoured, ready to relax and enjoy whatever adventures
present themselves. (12) e practice, we take ourselves withus (13) ... we go
and the personality thatis (14) .....cocovvvnnnnenn, over years of stress and tension is alrnost impossible
to shake off at a moment’s (15) ....cccccoevrnnnenee . Itis no wonder so many holidays are a disappointment,
no (16} ... howsmoothly they go or how lovely the weatheris. In (17) .................., the innumerable
problems that (18) .....ccccu.e. up during the average holiday are probably a welcome (19) .....cvevvenne
from the nagging feeling that we are not enjoying ourselves as much (20) .....oveeiveieene. we should.

Finish each of the following sentences in such a way that it means exactly the same as the sentence printed
before it.

Example: Her parents believe nothing she tells them.
Answer: Whatever she tells them, her parents don'’t believe her.

a. As he gets richer, he spends less money.

e TICRET <ttt eb ettt bt ebfam s et ot eae et et e e sbtancgten
b. Jane didn’t study, and this led to her failure.

JANE'STAIIUTE oot e s ses s s et men e s e bt arem s abas
¢. Whales are rarely seen at this time of year.

THETE BT .. ettt e b4 o044 4 80 e e £ 444 e £ ae o2 b e s et em s £ rm et e et emeenreae s
d. ltis open to question whether the candidate will suceeed.

TS TIOU ottt e et ceecmet e e caecacoe s e et s e caesamses e84 s e 1 An R RS 1E 0840044 Ha RS e e e S £t em e emsaneamd et e amremtnt s
¢. Everyone left as soon as she started singing.

IO SOOMIET ittt sttt st st st st b e be 0 s 4 et s ot s s aete s e sadomaneaeesecaanearnesrasrasraassassasonsoneens
f. A carlike that will cost us at least £20,000.

e WON T DE ADLE 1.ttt e ettt et ere e entt et
g. My story has been rejected.

Thave FECEIVEM ......ciiiiiiiiie e e e ses s s ea et shn s s et sasssn srsssmn e senssnses
h. My teacher assured me that | would pass the exam.

ALCCOTUINE 1.ttt ittt e beb et eateatrs ot s sos 4ot ebes bt et eesee ot et Fob40sebeebaabas bbbt s abe s babeateseesssae st sesartas
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